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B. Sc./ B. A. (Part-T) MATHEMATICS, 2013

Algebra and Co-ordinate Geometry of Two Dimensions
T.3 H. First Paper M. M. 73
SFT-37 Part-A. (i) fore Afged A %eﬁﬁamﬁrcﬁwﬂwqaaﬁamﬁ@@

AR TR aIfeTq | Deﬁn" ‘he characterlsnc equation and characteristic roots .
of amatrix A.

(U)qﬁpn/qnﬁj—{-ﬁl|‘|‘imwnmmaa pnqn] p“[q"EFJTr”:[ ‘
e@r BN 7 What is the value of pn q,.;— Puy Qu Where p“/qrl is the n' convergent
of a continued fraction

(111)@”@“‘6’9@35[35&7{%@ | State the factor theorem
(w)ﬂ%’ﬂﬁﬁ‘ﬂﬁﬁ%ﬁﬁﬁ%@ﬂﬂqx N D +qx—r—0%3ﬁ

T‘ﬁﬂ'( g6 § @ | Find the condition that the roots of the cubic equatlon

_Px’ +qxfr 0arein G.P.
X (v) AT rRrETd M-T4erT i e Ay |
Write Weier strass M-test statement.
| Write the statement of Guass test.

(vi) g T 1 |
(vu)QWWﬁHHﬁ%@ﬁﬁWﬂﬁﬁﬁﬂTﬂﬁﬂWW |
.. down equation of the chord joining two pomts onaconic.
Wise d (VIII;:IQW /=1+ecosO %‘7 l
uation ofasymptotes to the conic /’— 1 +ecos®.

< — 18xy + 37y’ +2x+14y 5 = 0 R qFE B
+2x+14y-2=

Write the eq
(ix) THIHT 13

% 2 What conic does equation 13x°— 18xy+37y’
Ofepresen " 0 hxy + by +2gx +2fy +¢ —oa‘a et @ geienteT i |

+2 hxy+by’ +2gx +2fy+c= 0.
Wwritethe© uatlon Ofd;%a_ spt%“fztaiﬂlff?mc a é E% y +48

AT I siaﬁ aﬂ' ...... +a,, prove that .
S - -
S__Sé__+ -s_-_e-lq+ .......... +s—an> n-1 aregar /OR
|
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B. Sc. / B. A. (Part-1) MATHEMATICS /7

(7) afx ifx = a+ L L L1 rand =b+-1—1 1 1 .
b¥b+atat Y atratb+brre
?’%\'ilmq Prove that : '
ab’+a+tb)x—(a'b+a+b)y a’—b
WRIL -2.(+) AR o, Byﬂ“ﬂWx)+qx+r 0% Fe & ar

(2B oc” -
B+y—o Eﬁfqﬁﬁlﬁ?ﬁllﬁm
Ifa, B, yareth roots of eequatlonx +gx+1=0, find the value of

2 2B, v— oc”

Try—o

ga)aﬂéﬁﬁftrﬁaﬁamx—lsx—lzszoﬁgaﬁ| |
olve by Cardon's method: ,

126 O n+1)n | n+1 -n

SRS TIL. 3. B%WWWU [_n__;_ -

g, B STAE B A EF3||31Q | Test the convergence of the series with general

GWW/OR

n — 2 .
B = _ ayqr /OR
()irffﬁl 17,37 17,375 4 3 ifemreon 1 ST i |
2 4* 27.4°.6"
Test the convergence of the se eries
P G O e e
— t ot T e
2F 2h.40 2.4 6

e IV. 4. (a1 )%@W%WJ*ACOS@+B&DGQWJ 1+ec036
2 w9t w0, af (A-e)’+B =1

Prove that the line / A cos 8-+B sin 0 will touch the conic '_1___=.1 +ecosB

5 a9ar /OR.
if (A- e)?)mﬁﬁﬁm /—1%—ecos(%if?ERT"‘:‘EB%ﬁq’—rgﬁﬁwUT

(1- +2elrcosO- 22 ~09P1TI
4 ) Prove that the equatlon ofthed1rect0rc1rcle of'the conic.

/~1+ecoselsr(]-e)+7e?r0039_2.-_0 |
{7 5+ (o) TR (2 + b)) (¢ +y) = (bx Fay - ab)’ % A 0 T T

Afom 1 Find the length of the latus rectum of the parabola.

(a +b) 0 +y)2 bX+a§aqa#mWmeéaﬁm|

q) 9 2+ 5xy +2¥ A
leneth of axes of the conic 2%’ +5xy +2 0
Find the equ%tlaon and leng e 3 S Sh

L and corresponding eigen vectors of the matrlx

en values
Findelg i 2 N
A=|2 ‘6
H et -1 g o] B B S i | Solve the following

i 4x* - 24x + 15=0.
nbyFerrarlemethodzﬁ? 4x’-4x X 2 A% 6 -

patio
eq 3. SF- ' o
A | State De—Morg,an-Betrands test ancl test the convergence of the

B —
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8/B.A./B. Sc. (Part-J) MATHEMATICS

Series: 1.3 \" 1.3.5 p+ ......... 9 )
] <] - iy
| - gﬁ:'ﬁmaﬁ

4-3T'mb—ou: 1 +e'COSG%W%@ﬁLWW,
Fé'—'fg QW fiﬁlﬁT 3, meiid El?ﬁ‘l Ry : Ifthe normal at L, one of the extremltles

ofthe latus rectum of the conic. =1 + e 00518 meets the curve
(] +3e’+e’) .

agamatQ,showthat SQ=42 (1+e _e)

5. 9T 14x - 24xy-+ 11y*-44x - 58y + 71—0@@3%@%%1‘3@3@%
TRy, Sebezrar T AR & RS S B | Trace the conic 14x* - 24xy + 11y*-

44x - 58y + 71=0.Also find the focus, eccentumtv and length of latus rectun{iw e
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